



Research article

On Janowski type p -harmonic functions associated with generalized Sălăgean operator

Shuhai Li*, Lina Ma and Huo Tang

School of Mathematics and Computer Sciences, Chifeng University, Chifeng 024000, Inner Mongolia, China

* **Correspondence:** Email: lishms66@163.com.

Abstract: In this paper, some classes of Janowski type p -harmonic functions associated with the generalized Sălăgean operator are introduced. Further, coefficient conditions, distortion estimates and the other properties of the classes are obtained. On the one hand, the results presented here generalize the results of Yaşar and Yalçın [8]. On the other hand, we obtain some new results on sufficient convolution condition of the classes.

Keywords: p -harmonic function, Janowski function, Sălăgean operator, subordination, extreme point, convolution

Mathematics Subject Classification: 30C45, 30C50, 30C80

1. Introduction

The complex-valued function $F = u + iv$ is called p -harmonic function if F is $2p$ ($p \geq 1$, $p \in \mathbb{N}$) times continuously differentiable in $\mathcal{U} = \{z \in \mathbb{C} : |z| < 1\}$ and satisfies the equation $\Delta^p F = \Delta(\Delta^{p-1} F) = 0$, where $\Delta := \Delta^1$ represents the complex Laplacian operator:

$$\Delta = \frac{4\partial^2}{\partial z \partial \bar{z}} = \frac{\partial^2}{\partial x^2} + \frac{\partial^2}{\partial y^2}.$$

It is obvious that F is harmonic and bi-harmonic for $p = 1$ and $p = 2$ respectively (see [1–6]).

The function F is p -harmonic if and only if F has the following form

$$F(z) = \sum_{\mu=1}^p |z|^{2(\mu-1)} f_{p-\mu+1}(z), \quad (1.1)$$

where $f_{p-\mu+1}(z)$ is harmonic (or $\Delta f_{p-\mu+1} = 0$) (see [7]) and satisfies

$$f_{p-\mu+1} = h_{p-\mu+1} + \bar{g}_{p-\mu+1}, \quad (1.2)$$

$$h_{p-\mu+1}(z) = \sum_{k=1}^{\infty} a_{k,p-\mu+1} z^k \quad (1 \leq \mu \leq p, a_{1,p} = 1) \quad (1.3)$$

and

$$g_{p-\mu+1}(z) = \sum_{k=1}^{\infty} b_{k,p-\mu+1} z^k \quad (1 \leq \mu \leq p, |b_{1,p}| < 1). \quad (1.4)$$

We denote by J_F the Jacobian of F , that is

$$J_F = |F_z|^2 - |F_{\bar{z}}|^2.$$

Then the function F is sense-preserving and locally univalent if $J_F > 0$ (see [1, 2]).

We denote by SH_p the class of sense-preserving and univalent p -harmonic functions F of the form (1.1). The class SH_p has recently raised the interest of many researchers (see for instance [8–14]).

Furthermore, we let TH_p be the subclass of SH_p consisting of the functions F as in (1.1), where $f_{p-\mu+1}$ has the form (1.2) and

$$h_p(z) = z - \sum_{k=2}^{\infty} |a_{k,p}| z^k, \quad (1.5)$$

$$h_{p-\mu+1}(z) = - \sum_{k=1}^{\infty} |a_{k,p-\mu+1}| z^k \quad (2 \leq \mu \leq p), \quad (1.6)$$

$$g_{p-\mu+1}(z) = - \sum_{k=1}^{\infty} |b_{k,p-\mu+1}| z^k \quad (1 \leq \mu \leq p). \quad (1.7)$$

Let

$$F(z) = \sum_{\mu=1}^p |z|^{2(\mu-1)} \left(\sum_{k=1}^{\infty} a_{k,p-\mu+1} z^k + \sum_{k=1}^{\infty} \bar{b}_{k,p-\mu+1} \bar{z}^k \right) \in SH_p$$

and

$$G(z) = \sum_{\mu=1}^p |z|^{2(\mu-1)} \left(\sum_{k=1}^{\infty} A_{k,p-\mu+1} z^k + \sum_{k=1}^{\infty} \bar{B}_{k,p-\mu+1} \bar{z}^k \right) \in SH_p,$$

where $a_{1,p} = 1$ and $A_{1,p} = 1$. In the following, we define the convolution of F and G by

$$(F * G)(z) = \sum_{\mu=1}^p |z|^{2(\mu-1)} \left(\sum_{k=1}^{\infty} a_{k,p-\mu+1} A_{k,p-\mu+1} z^k + \sum_{k=1}^{\infty} \bar{b}_{k,p-\mu+1} \bar{B}_{k,p-\mu+1} \bar{z}^k \right). \quad (1.8)$$

For $F \in SH_p$, Yaşar and Yalçın [8] introduced the generalized Sălăgean operator D_{λ}^n as follows,

$$\begin{aligned} D_{\lambda}^0 F(z) &= F(z), \\ D_{\lambda}^1 F(z) &= (1 - \lambda) D_{\lambda}^0 F(z) + \lambda [z(D_{\lambda}^0 F(z))_z + \bar{z}(D_{\lambda}^0 F(z))_{\bar{z}}], \\ D_{\lambda}^n F(z) &= D_{\lambda}^1 (D_{\lambda}^{n-1} F(z)), \end{aligned} \quad (1.9)$$

where $\lambda \geq 0$ and $n \in \mathbb{N} = \{1, 2, \dots\}$.

From (1.1) and (1.9), we have

$$\begin{aligned} D_{\lambda}^n F(z) &= \sum_{\mu=1}^p |z|^{2(\mu-1)} \sum_{k=1}^{\infty} [1 + (k-1)\lambda + 2(\mu-1)\lambda]^n a_{k,p-\mu+1} z^k, \\ &+ \sum_{\mu=1}^p |z|^{2(\mu-1)} \sum_{k=1}^{\infty} [1 + (k-1)\lambda + 2(\mu-1)\lambda]^n \bar{b}_{k,p-\mu+1} \bar{z}^k, \end{aligned} \quad (1.10)$$

where $a_{1,p} = 1$ and $|b_{1,p}| < 1$.

In particular, for $p = 1$, we obtain univalent harmonic functions with the generalized Sălăgean operator defined by Li and Liu [15]. Let $p = 1$ and $g(z) = 0$, the generalized Sălăgean operator of univalent functions are obtained by Al-Oboudi [16]. Also let $p = 1$, $\lambda = 0$ and $g(z) = 0$, then we get the classical Sălăgean operator [17].

According to (1.10) and the above definition of convolution, we obtain

$$D_{\lambda}^n F(z) = F(z) * \underbrace{\sum_{\mu=1}^p |z|^{2(\mu-1)} (\varphi_{\mu}(z) + \varphi_{\mu}(\bar{z})) * \dots * \sum_{\mu=1}^p |z|^{2(\mu-1)} (\varphi_{\mu}(z) + \varphi_{\mu}(\bar{z}))}_{n \text{ times}},$$

where

$$\varphi_{\mu}(z) = \frac{[1 + 2(\mu-1)\lambda]z - [1 + (2(\mu-1) - 1)\lambda]z^2}{(1-z)^2}. \quad (1.11)$$

Using the operator D_{λ}^n , Yaşar and Yalçın [8] introduced and studied the subclass $SH_p(n, \lambda, \beta)$ of SH_p satisfying the condition

$$\operatorname{Re} \frac{D_{\lambda}^{n+1} F(z)}{D_{\lambda}^n F(z)} > \beta \quad (\lambda \geq 0, 0 \leq \beta < 1).$$

An analytic function $s : \mathcal{U} \rightarrow \mathbb{C}$ is subordinate to an analytic function $t : \mathcal{U} \rightarrow \mathbb{C}$, if there is a function v satisfying $v(0) = 0$ and $|v(z)| < 1$ ($z \in \mathcal{U}$), such that $s(z) = t(v(z))$ ($z \in \mathcal{U}$), we note that $s(z) < t(z)$. In particular, if t is univalent in \mathcal{U} , then the following conclusion is true

$$s(z) < t(z) \iff s(0) = t(0) \text{ and } s(\mathcal{U}) \subset t(\mathcal{U}).$$

Inspired by Janowski [18], we define the subclass of SH_p as below.

Definition 1. Suppose $\lambda \geq 0, -1 \leq B < 0 < A \leq 1, p \in \mathbb{N}$ and $n \in \mathbb{N}_0$. The function F is in $HL_p^n(\lambda, A, B)$ if it satisfies

$$\frac{D_{\lambda}^{n+1} F(z)}{D_{\lambda}^n F(z)} < \frac{1 + Az}{1 + Bz}, \quad (1.12)$$

where $D_{\lambda}^n F(z)$ is given by (1.10).

For $A = 1 - 2\beta$ ($0 \leq \beta < 1$), $B = -1$, the class $HL_p^n(\lambda, A, B)$ reduces to the class $SH_p(n, \lambda, \beta)$.

In particular, let

$$\widetilde{HL}_p^n(\lambda, A, B) = HL_p^n(\lambda, A, B) \cap TH_p. \quad (1.13)$$

In this paper, convolution properties, coefficient conditions, distortion estimates, extreme functions and convex combination of the class $\widetilde{HL}_p^n(\lambda, A, B)$ are obtained. On the one hand, the results presented here generalize the results of Yaşar and Yalçın [8]. On the other hand, we obtain some new results on sufficient convolution condition of the class.

2. Basic properties

First of all, we provide the necessary and sufficient convolution conditions.

Theorem 1. *The function $F \in HL_p^n(\lambda, A, B)$ iff*

$$D_\lambda^n F(z) * \sum_{\mu=1}^p |z|^{2(\mu-1)} (\Phi_\mu(z) + \Phi_\mu(\bar{z})) \neq 0 \quad (z \in \mathcal{U}),$$

where

$$\Phi_\mu(z) = (1 + B\chi)\varphi_\mu(z) - (1 + A\chi)\frac{z}{1-z} \quad (\chi \in \mathbb{C}, |\chi| = 1)$$

and $\varphi_\mu(z)$ given by (1.11).

Proof. Let $F \in HL_p^n(\lambda, A, B)$. According to Definition 1 and the subordination relationship, there exists an analytic function ω satisfying $\omega(0) = 0$ and $|\omega(z)| < 1$, such that

$$\frac{D_\lambda^{n+1} F(z)}{D_\lambda^n F(z)} = \frac{1 + A\omega(z)}{1 + B\omega(z)}, \quad (z \in \mathcal{U}),$$

which is equivalent for $\chi \in \mathbb{C}$ with $|\chi| = 1$

$$\frac{D_\lambda^{n+1} F(z)}{D_\lambda^n F(z)} \neq \frac{1 + A\chi}{1 + B\chi}. \quad (2.1)$$

Now for

$$D_\lambda^n F(z) = D_\lambda^n F(z) * \sum_{\mu=1}^p |z|^{2(\mu-1)} \left(\frac{z}{1-z} + \frac{\bar{z}}{1-\bar{z}} \right)$$

and

$$D_\lambda^{n+1} F(z) = D_\lambda^n F(z) * \sum_{\mu=1}^p |z|^{2(\mu-1)} (\varphi_\mu(z) + \varphi_\mu(\bar{z})),$$

where $\varphi_\mu(z)$ is defined by (1.11).

The inequality (2.1) yields

$$\begin{aligned} & (1 + B\chi)(D_\lambda^{n+1} F(z)) - (1 + A\chi)(D_\lambda^n F(z)) \\ &= D_\lambda^n F(z) * \sum_{\mu=1}^p |z|^{2(\mu-1)} \left[(1 + B\chi)\varphi_\mu(z) - \frac{(1 + A\chi)z}{1-z} + (1 + B\chi)\varphi_\mu(\bar{z}) - \frac{(1 + A\chi)\bar{z}}{1-\bar{z}} \right] \\ & \neq 0, \end{aligned}$$

which is the required necessary condition.

The sufficiency of Theorem 1 is proved as follows.

Let

$$M(z) = \frac{D_\lambda^{n+1} F(z)}{D_\lambda^n F(z)} \quad \text{and} \quad N(z) = \frac{1 + Az}{1 + Bz} \quad (z \in \mathcal{U}).$$

It is clear that $M(z)$ is harmonic in \mathcal{U} and $N(z)$ is univalent in \mathcal{U} . From (2.1), it is easy to see that $M(\mathcal{U}) \cap N(\partial\mathcal{U}) = \emptyset$, that is, $M(\mathcal{U}) \subset \mathbb{C} \setminus N(\partial\mathcal{U})$. By $M(0) = N(0) = 1$, we have $M(\mathcal{U}) \subset N(\mathcal{U})$. According to the subordination relationship, we obtain

$$M(z) < N(z),$$

that is,

$$\frac{D_\lambda^{n+1} F(z)}{D_\lambda^n F(z)} < \frac{1 + Az}{1 + Bz}, \quad (z \in \mathcal{U}).$$

Therefore, we complete the proof of Theorem 1. \square

Theorem 2. Let $\lambda \geq 1$ and $a_{1,p} = 1$. For the class of $HL_p^n(\lambda, A, B)$, the sufficient condition on the coefficients of a function F of the class to be sense preserving and univalent in \mathcal{U} is

$$\sum_{\mu=1}^p \sum_{k=1}^{\infty} \phi_{k,\mu}^n(\lambda, A, B) (|a_{k,p-\mu+1}| + |b_{k,p-\mu+1}|) \leq 2(A - B), \quad (2.2)$$

where

$$\phi_{k,\mu}^n(\lambda, A, B) = [(A - B) + (1 - B)((k - 1) + 2(\mu - 1))\lambda] [1 + (k - 1)\lambda + 2(\mu - 1)\lambda]^n. \quad (2.3)$$

Proof. In order to prove F is sense preserving. We only need to show

$$J_F = |F_z|^2 - |F_{\bar{z}}|^2 > 0.$$

For $z \neq 0$, we have

$$\begin{aligned} J_F(z) &= (|F_z| + |F_{\bar{z}}|) \left[\left| 1 + \sum_{k=2}^{\infty} k a_{k,p} z^{k-1} + \sum_{\mu=2}^p \frac{|z|^{2(\mu-1)}}{z} \sum_{k=1}^{\infty} [(k + \mu - 1) a_{k,p-\mu+1} z^k + (\mu - 1) \bar{b}_{k,p-\mu+1} \bar{z}^k] \right| \right. \\ &\quad \left. - \left| \sum_{k=1}^{\infty} k \bar{b}_{k,p} \bar{z}^{k-1} + \sum_{\mu=2}^p \frac{|z|^{2(\mu-1)}}{\bar{z}} \sum_{k=1}^{\infty} [(\mu - 1) a_{k,p-k+1} z^k + (k + \mu - 1) \bar{b}_{k,p-\mu+1} \bar{z}^k] \right| \right] \\ &\geq (|F_z| + |F_{\bar{z}}|) \left[2 - \sum_{\mu=1}^p \sum_{k=1}^{\infty} (2(\mu - 1) + k)(|a_{k,p-\mu+1}| + |b_{k,p-\mu+1}|) \right] \\ &> (|F_z| + |F_{\bar{z}}|) \left[2 - \sum_{\mu=1}^p \sum_{k=1}^{\infty} \frac{\phi_{k,\mu}^n(\lambda, A, B)}{(A - B)} (|a_{k,p-\mu+1}| + |b_{k,p-\mu+1}|) \right] \\ &\geq 0. \end{aligned}$$

It is easy to show that $J_F(0) > 0$. Thus, F is sense preserving.

For $z_1, z_2 \in \mathcal{U}$ and $z_1 \neq z_2$, according to the condition (2.2), we get

$$|F(z_1) - F(z_2)| = \left| \sum_{\mu=1}^p (|z_1|^{2(\mu-1)} f_{p-\mu+1}(z_1) - |z_2|^{2(\mu-1)} f_{p-\mu+1}(z_2)) \right|$$

$$\begin{aligned}
&\geq |z_1 - z_2| \left\{ 1 - \left| \sum_{k=2}^{\infty} a_{k,p} \frac{z_1^k - z_2^k}{z_1 - z_2} + \sum_{k=1}^{\infty} \bar{b}_{k,p} \frac{\bar{z}_1^k - \bar{z}_2^k}{z_1 - z_2} \right| \right. \\
&\quad \left. - \left| \sum_{\mu=2}^p \left(\sum_{k=1}^{\infty} a_{k,p-\mu+1} \frac{|z_1|^{2(\mu-1)} z_1^k - |z_2|^{2(\mu-1)} z_2^k}{z_1 - z_2} + \sum_{k=1}^{\infty} \bar{b}_{k,p-\mu+1} \frac{|z_1|^{2(\mu-1)} \bar{z}_1^k - |z_2|^{2(\mu-1)} \bar{z}_2^k}{z_1 - z_2} \right) \right| \right\} \\
&\geq |z_1 - z_2| \left[1 - |b_{1,p}| - \sum_{k=2}^{\infty} k(|a_{k,p}| + |b_{k,p}|) - \sum_{\mu=2}^p \sum_{k=1}^{\infty} (2(\mu-1) + k)(|a_{k,p-\mu+1}| + |b_{k,p-\mu+1}|) \right] \\
&> |z_1 - z_2| \left[2 - \sum_{\mu=1}^p \sum_{k=1}^{\infty} \frac{\phi_{k,\mu}^n(\lambda, A, B)}{(A-B)} (|a_{k,p-\mu+1}| + |b_{k,p-\mu+1}|) \right] \\
&\geq 0.
\end{aligned}$$

Therefore, F is univalent in \mathcal{U} .

According to Definition 1 and the subordination relationship, we have $F \in HL_p^n(\lambda, A, B)$ iff

$$\left| \frac{D_{\lambda}^{n+1} F(z) - D_{\lambda}^n F(z)}{AD_{\lambda}^n F(z) - BD_{\lambda}^{n+1} F(z)} \right| < 1 \quad (z \in \mathcal{U}),$$

that is,

$$|AD_{\lambda}^n F(z) - BD_{\lambda}^{n+1} F(z)| - |D_{\lambda}^{n+1} F(z) - D_{\lambda}^n F(z)| > 0 \quad (z \in \mathcal{U}). \quad (2.4)$$

Thus, from (1.10) and (2.4) we get

$$\begin{aligned}
&|AD_{\lambda}^n F(z) - BD_{\lambda}^{n+1} F(z)| - |D_{\lambda}^{n+1} F(z) - D_{\lambda}^n F(z)| \\
&\geq (A-B)|z| - \sum_{k=2}^{\infty} (1 + (k-1)\lambda)^n [(A-B) + (1-B)(k-1)\lambda] |a_{k,p}| |z|^k \\
&\quad - \sum_{k=1}^{\infty} (1 + (k-1)\lambda)^n [(A-B) + (1-B)(k-1)\lambda] |\bar{b}_{k,p}| |z|^k \\
&\quad - \sum_{\mu=2}^p |z|^{2(\mu-1)} \sum_{k=1}^{\infty} \phi_{k,\mu}^n(\lambda, A, B) [|a_{k,p-\mu+1}| + |b_{k,p-\mu+1}|] |z|^k \\
&> |z| \left[2(A-B) - \sum_{\mu=1}^p \sum_{k=1}^{\infty} \phi_{k,\mu}^n(\lambda, A, B) (|a_{k,p-\mu+1}| + |b_{k,p-\mu+1}|) |z|^{k-1} \right].
\end{aligned}$$

Consequently, we infer that the sufficient condition (2.2) for $F \in HL_p^n(\lambda, A, B)$ holds true. \square

Theorem 3. The coefficient condition (2.2) characterizes the elements of $\widetilde{HL}_p^n(\lambda; A, B)$.

Proof. By Theorem 2, the sufficient part is true. For the necessary part, let $F \in \widetilde{HL}_p^n(\lambda; A, B)$. By (1.12) and the relationship of subordination, we get

$$\left| \frac{D_{\lambda}^{n+1} F(z) - D_{\lambda}^n F(z)}{AD_{\lambda}^n F(z) - BD_{\lambda}^{n+1} F(z)} \right| < 1 \quad (z \in \mathcal{U}), \quad (2.5)$$

that is,

$$\left| \frac{\sum_{\mu=1}^p |z|^{2(\mu-1)} \sum_{k=1}^{\infty} N_{k,\mu} (|a_{k,p-\mu+1}| z^k + |b_{k,p-\mu+1}| \bar{z}^k)}{2(A-B)z - \sum_{k=1}^{\infty} M_{k,1} |a_{k,p}| z^k - \sum_{k=1}^{\infty} M_{k,1} |b_{k,p}| \bar{z}^k - \sum_{\mu=2}^p |z|^{2(\mu-1)} \sum_{k=1}^{\infty} M_{k,\mu} (|a_{k,p-\mu+1}| z^k + |b_{k,p-\mu+1}| \bar{z}^k)} \right| < 1, \quad (2.6)$$

where

$$M_{k,\mu} = (1 + (k-1)\lambda + 2(\mu-1)\lambda)^n [(A-B) - B((k-1)\lambda + 2(\mu-1)\lambda)]$$

and

$$N_{k,\mu} = (1 + (k-1)\lambda + 2(\mu-1)\lambda)^n [(k-1)\lambda + 2(\mu-1)\lambda].$$

From (2.6), we have

$$\operatorname{Re} \left\{ \frac{\sum_{\mu=1}^p |z|^{2(\mu-1)} \sum_{k=1}^{\infty} N_{k,\mu} (|a_{k,p-\mu+1}| z^k + |b_{k,p-\mu+1}| \bar{z}^k)}{(A-B)z - \sum_{k=2}^{\infty} M_{k,1} |a_{k,p}| z^k - \sum_{k=1}^{\infty} M_{k,1} |b_{k,p}| \bar{z}^k - \sum_{\mu=2}^p |z|^{2(\mu-1)} \sum_{k=1}^{\infty} M_{k,\mu} (|a_{k,p-\mu+1}| z^k + |b_{k,p-\mu+1}| \bar{z}^k)} \right\} < 1, \quad (2.7)$$

which is equivalent to

$$\operatorname{Re} \left\{ \frac{\sum_{\mu=1}^p |z|^{2(\mu-1)} \sum_{k=1}^{\infty} N_{k,\mu} (|a_{k,p-\mu+1}| z^k + |b_{k,p-\mu+1}| \bar{z}^k)}{2(A-B)z - \sum_{\mu=1}^p |z|^{2(\mu-1)} \sum_{k=1}^{\infty} M_{k,\mu} (|a_{k,p-\mu+1}| z^k + |b_{k,p-\mu+1}| \bar{z}^k)} \right\} < 1. \quad (2.8)$$

Let $z = r$ ($0 \leq r < 1$), from (2.8), we have

$$\sum_{\mu=1}^p \sum_{k=1}^{\infty} \phi_{k,\mu}^n(\lambda, A, B) (|a_{k,p-\mu+1}| + |b_{k,p-\mu+1}|) r^{k-1} < 2(A-B), \quad (2.9)$$

where $\phi_{k,\mu}^n(\lambda, A, B)$ is given by (2.3).

Setting $r \rightarrow 1^-$ in (2.9), we will get (2.2). Thus, the proof is completed. \square

Theorem 4. Let $|z| = r < 1$. If $F \in \widetilde{HL}_p^n(\lambda; A, B)$, then

$$|F(z)| \leq \left(\sum_{\mu=1}^p (|a_{1,p-\mu+1}| + |b_{1,p-\mu+1}|) \right) r + \left(\frac{2(A-B)}{\phi_{2,1}^n(\lambda, A, B)} - \sum_{\mu=1}^p \frac{\phi_{1,\mu}^n(\lambda, A, B)}{\phi_{2,1}^n(\lambda, A, B)} (|a_{1,p-\mu+1}| + |b_{1,p-\mu+1}|) \right) r^2$$

and

$$|F(z)| \geq \left(2 - \sum_{\mu=1}^p (|a_{1,p-\mu+1}| + |b_{1,p-\mu+1}|) \right) r - \left(\frac{2(A-B)}{\phi_{2,1}^n(\lambda, A, B)} - \sum_{\mu=1}^p \frac{\phi_{1,\mu}^n(\lambda, A, B)}{\phi_{2,1}^n(\lambda, A, B)} (|a_{1,p-\mu+1}| + |b_{1,p-\mu+1}|) \right) r^2,$$

where $\phi_{k,\mu}^n(\lambda, A, B)$ is given by (2.3).

Proof. For $F \in \widetilde{HL}_p^n(\lambda; A, B)$, we obtain

$$|F(z)| \leq \left(\sum_{\mu=1}^p (|a_{1,p-\mu+1}| + |b_{1,p-\mu+1}|) \right) r + \left(\sum_{\mu=1}^p \sum_{k=2}^{\infty} (|a_{k,p-\mu+1}| + |b_{k,p-\mu+1}|) \right) r^2.$$

Using the fact that $\phi_{k,\mu}^n(\lambda, A, B)$ is an increasing function with respect to k and μ satisfying $\phi_{k,\mu}^n(\lambda, A, B) \geq \phi_{2,1}^n(\lambda, A, B)$, we have

$$|F(z)| \leq \left(\sum_{\mu=1}^p (|a_{1,p-\mu+1}| + |b_{1,p-\mu+1}|) \right) r + \left(\frac{2(A-B)}{\phi_{2,1}^n(\lambda, A, B)} \sum_{\mu=1}^p \sum_{k=2}^{\infty} \frac{\phi_{k,\mu}^n(\lambda, A, B)}{2(A-B)} (|a_{k,p-\mu+1}| + |b_{k,p-\mu+1}|) \right) r^2.$$

Applying Theorem 3, we have

$$|F(z)| \leq \left(\sum_{\mu=1}^p (|a_{1,p-\mu+1}| + |b_{1,p-\mu+1}|) \right) r + \frac{2(A-B)}{\phi_{2,1}^n(\lambda, A, B)} \left(1 - \sum_{\mu=1}^p \frac{\phi_{1,\mu}^n(\lambda, A, B)}{2(A-B)} (|a_{1,p-\mu+1}| + |b_{1,p-\mu+1}|) \right) r^2.$$

Using the same methods above, we get

$$\begin{aligned} |F(z)| &\geq \left(1 - |b_{1,p}| - \sum_{\mu=2}^p (|a_{1,p-\mu+1}| + |b_{1,p-\mu+1}|) \right) r - \left(\sum_{\mu=1}^p \sum_{k=2}^{\infty} (|a_{k,p-\mu+1}| + |b_{k,p-\mu+1}|) \right) r^2 \\ &\geq \left(2 - \sum_{\mu=1}^p (|a_{1,p-\mu+1}| + |b_{1,p-\mu+1}|) \right) r - \frac{2(A-B)}{\phi_{2,1}^n(\lambda, A, B)} \left(1 - \sum_{\mu=1}^p \frac{\phi_{1,\mu}^n(\lambda, A, B)}{2(A-B)} (|a_{1,p-\mu+1}| + |b_{1,p-\mu+1}|) \right) r^2. \end{aligned}$$

Hence the proof is completed. \square

Corollary 1. Let F be given by (1.1). If $F \in \widetilde{HL}_p^n(\lambda; A, B)$, then

$$\{\omega : |\omega| < \rho\} \subset F(\mathcal{U}),$$

where

$$\rho = 2 \left(1 - \frac{A-B}{\phi_{2,1}^n(\lambda, A, B)} \right) + \sum_{\mu=1}^p \left(\frac{\phi_{1,\mu}^n(\lambda, A, B)}{\phi_{2,1}^n(\lambda, A, B)} - 1 \right) (|a_{1,p-\mu+1}| + |b_{1,p-\mu+1}|)$$

and $\phi_{k,\mu}^n(\lambda, A, B)$ is given by (2.3).

Theorem 5. If the function F is given by (1.1) and $\phi_{k,\mu}^n(\lambda, A, B)$ is given by (2.3), then F lies in $\widetilde{HL}_p^n(\lambda; A, B)$ if and only if

$$F(z) = \sum_{\mu=1}^p \sum_{k=1}^{\infty} \left(X_{k,p-\mu+1} h_{k,p-\mu+1}(z) + Y_{k,p-\mu+1} g_{k,p-\mu+1}(z) \right),$$

where

$$h_{1,p}(z) = z, \quad h_{k,p}(z) = z - \frac{2(A-B)}{\phi_{k,1}^n(\lambda, A, B)} z^k \quad (k \geq 2),$$

$$\begin{aligned}
g_{k,p}(z) &= z - \frac{2(A-B)}{\phi_{k,1}^n(\lambda, A, B)} \bar{z}^k \quad (k \geq 1), \\
h_{k,p-\mu+1}(z) &= z - |z|^{2(\mu-1)} \frac{2(A-B)}{\phi_{k,\mu}^n(\lambda, A, B)} z^k \quad (2 \leq \mu \leq p; k \geq 1), \\
g_{k,p-\mu+1}(z) &= z - |z|^{2(\mu-1)} \frac{2(A-B)}{\phi_{k,\mu}^n(\lambda, A, B)} \bar{z}^k \quad (2 \leq \mu \leq p; k \geq 1)
\end{aligned}$$

and

$$\sum_{\mu=1}^p \sum_{k=1}^{\infty} (X_{k,p-\mu+1} + Y_{k,p-\mu+1}) = 1, \quad (X_{k,p-\mu+1} \geq 0, Y_{k,p-\mu+1} \geq 0).$$

In particular, for $k \geq 1$ and $1 \leq \mu \leq p$, $\{h_{k,p-\mu+1}(z)\}$ and $\{g_{k,p-\mu+1}(z)\}$ are the extreme functions of the class $\widetilde{HL}_p^n(\lambda; A, B)$.

Proof. Since

$$\begin{aligned}
F(z) &= \sum_{\mu=1}^p \sum_{k=1}^{\infty} (X_{k,p-\mu+1} h_{k,p-\mu+1}(z) + Y_{k,p-\mu+1} g_{k,p-\mu+1}(z)) \\
&= z - \sum_{k=2}^{\infty} \frac{2(A-B)}{\phi_{k,1}^n(\lambda, A, B)} X_{k,p} z^k - \sum_{k=1}^{\infty} \frac{2(A-B)}{\phi_{k,1}^n(\lambda, A, B)} Y_{k,p} \bar{z}^k \\
&\quad - \sum_{\mu=2}^p |z|^{2(\mu-1)} \sum_{k=1}^{\infty} \frac{2(A-B)}{\phi_{k,\mu}^n(\lambda, A, B)} [X_{k,p-\mu+1} z^k + Y_{k,p-\mu+1} \bar{z}^k]
\end{aligned}$$

and

$$\begin{aligned}
&\sum_{k=2}^{\infty} \frac{\phi_{k,1}^n(\lambda, A, B)}{2(A-B)} \cdot \frac{2(A-B)}{\phi_{k,1}^n(\lambda, A, B)} X_{k,p} + \sum_{k=1}^{\infty} \frac{\phi_{k,1}^n(\lambda, A, B)}{2(A-B)} \cdot \frac{2(A-B)}{\phi_{k,1}^n(\lambda, A, B)} Y_{k,p} \\
&+ \sum_{\mu=2}^p \sum_{k=1}^{\infty} \frac{\phi_{k,\mu}^n(\lambda, A, B)}{2(A-B)} \cdot \frac{2(A-B)}{\phi_{k,\mu}^n(\lambda, A, B)} [X_{k,p-\mu+1} + Y_{k,p-\mu+1}] \\
&= \sum_{\mu=2}^p \sum_{k=1}^{\infty} (X_{k,p-\mu+1} + Y_{k,p-\mu+1}) + \sum_{k=2}^{\infty} (X_{k,p} + Y_{k,p}) + Y_{1,p} \\
&\leq 1 - X_{1,p} \leq 1.
\end{aligned}$$

Using Theorem 3, we obtain that $F \in \widetilde{HL}_p^n(\lambda; A, B)$.

For $F \in \widetilde{HL}_p^n(\lambda; A, B)$, let

$$\begin{aligned}
X_{k,p} &= \frac{\phi_{k,1}^n(\lambda, A, B)}{2(A-B)} |a_{k,p}| \quad (k \geq 2), \\
Y_{k,p} &= \frac{\phi_{k,1}^n(\lambda, A, B)}{2(A-B)} |b_{k,p}| \quad (k \geq 1), \\
X_{k,p-\mu+1} &= \frac{\phi_{k,\mu}^n(\lambda, A, B)}{2(A-B)} |a_{k,p-\mu+1}| \quad (2 \leq \mu \leq p, k \geq 1),
\end{aligned}$$

$$Y_{k,p-\mu+1} = \frac{\phi_{k,\mu}^n(\lambda, A, B)}{2(A-B)} |b_{k,p-\mu+1}| \quad (2 \leq \mu \leq p, k \geq 1)$$

and

$$X_{1,p} = 1 - \sum_{\mu=2}^p \sum_{k=1}^{\infty} (X_{k,p-\mu+1} + Y_{k,p-\mu+1}) - \sum_{k=2}^{\infty} (X_{k,p} + Y_{k,p}) - Y_{1,p},$$

where $X_{1,p} \geq 0$. According to Theorem 3, we have

$$F(z) = \sum_{\mu=1}^p \sum_{k=1}^{\infty} (X_{k,p-\mu+1} h_{k,p-\mu+1}(z) + Y_{k,p-\mu+1} g_{k,p-\mu+1}(z)).$$

Thus, we complete the proof. \square

Theorem 6. The class $\widetilde{HL}_p^n(\lambda; A, B)$ is convex.

Proof. Suppose $F_i(z) \in \widetilde{HL}_p^n(\lambda; A, B)$, where

$$F_i(z) = z - \sum_{k=2}^{\infty} |a_{ik,p}| z^k - \sum_{k=1}^{\infty} |b_{ik,p}| \bar{z}^k - \sum_{\mu=2}^p |z|^{2(\mu-1)} \sum_{k=1}^{\infty} (|a_{ik,p-\mu+1}| z^k + |\bar{b}_{ik,p-\mu+1}| \bar{z}^k) \quad (i = 1, 2, \dots).$$

Applying Theorem 3, we obtain

$$\sum_{\mu=1}^p \sum_{k=1}^{\infty} \phi_{k,\mu}^n(\lambda, A, B) (|a_{ik,p-\mu+1}| + |b_{ik,p-\mu+1}|) \leq 2(A-B), \quad (2.10)$$

where $\phi_{k,\mu}^n(\lambda, A, B)$ is given by (2.3).

For $\sum_{i=1}^{\infty} t_i = 1$, $0 \leq t_i \leq 1$, we can write the convex combination of F_i as follows

$$\sum_{i=1}^{\infty} t_i F_i = z - \sum_{k=2}^{\infty} \left(\sum_{i=1}^{\infty} t_i [|a_{ik,p}| z^k + |b_{ik,p}| \bar{z}^k] \right) - \sum_{\mu=2}^p |z|^{2(\mu-1)} \sum_{k=1}^{\infty} \left(\sum_{i=1}^{\infty} t_i [|a_{ik,p-\mu+1}| z^k + |b_{ik,p-\mu+1}| \bar{z}^k] \right).$$

From (2.10), we obtain

$$\begin{aligned} & \sum_{\mu=1}^p \sum_{k=1}^{\infty} \frac{\phi_{k,\mu}^n(\lambda, A, B)}{2(A-B)} \cdot \left(\sum_{i=1}^{\infty} t_i [|a_{ik,p-\mu+1}| + |b_{ik,p-\mu+1}|] \right) \\ &= \sum_{i=1}^{\infty} t_i \left[\sum_{\mu=1}^p \sum_{k=1}^{\infty} \frac{\phi_{k,\mu}^n(\lambda, A, B)}{2(A-B)} \cdot (|a_{ik,p-\mu+1}| + |b_{ik,p-\mu+1}|) \right] \\ &\leq \sum_{i=1}^{\infty} t_i = 1. \end{aligned}$$

Using Theorem 3, we get $\sum_{i=1}^{\infty} t_i F_i \in \widetilde{HL}_p^n(\lambda; A, B)$. Therefore, the proof is completed. \square

Remark 1. In particular, let $A = 1 - 2\beta$ ($0 \leq \beta < 1$) and $B = -1$. Then Theorem 1, Theorem 2, Theorem 4, Theorem 3 and Theorem 6 in [8] are particular cases of Theorem 2, Theorem 4, Theorem 5 and Theorem 6.

3. Convolution

First of all, we provide a new theorem for convolution of the class $\widetilde{HL}_p^n(\lambda; A, B)$.

Theorem 7. Let $\lambda \geq 1$, $p \in \{1, 2, \dots\}$, $A_{1,p-\mu+1} = a_{1,p-\mu+1} = 0$ ($2 \leq \mu \leq p$) and $B_{1,p-\mu+1} = b_{1,p-\mu+1} = 0$ ($1 \leq \mu \leq p$). If $F, G \in \widetilde{HL}_p^n(\lambda; A, B)$, then $F * G$ belongs to the class $\widetilde{HL}_p^n(\lambda; A, B)$, where $\phi_{k,\mu}^n(\lambda, A, B)$ is given by (2.3) and

$$\phi_{2,1}^n(\lambda, A, B) \geq 2p(A - B). \quad (3.1)$$

Proof. Let $F, G \in \widetilde{HL}_p^n(\lambda; A, B)$. Then the convolution $F * G$ is in $\widetilde{HL}_p^n(\lambda; A, B)$ if

$$\sum_{\mu=1}^p \sum_{k=2}^{\infty} \frac{\phi_{k,\mu}^n(\lambda, A, B)}{2(A - B)} (|A_{k,p-\mu+1}| |a_{k,p-\mu+1}| + |B_{k,p-\mu+1}| |b_{k,p-\mu+1}|) \leq 1. \quad (3.2)$$

For $F, G \in \widetilde{HL}_p^n(\lambda; A, B)$, we have

$$\sum_{\mu=1}^p \sum_{k=2}^{\infty} \frac{\phi_{k,\mu}^n(\lambda, A, B)}{2(A - B)} (|a_{k,p-\mu+1}| + |b_{k,p-\mu+1}|) \leq 1 \quad (3.3)$$

and

$$\sum_{\mu=1}^p \sum_{k=2}^{\infty} \frac{\phi_{k,\mu}^n(\lambda, A, B)}{2(A - B)} (|A_{k,p-\mu+1}| + |B_{k,p-\mu+1}|) \leq 1. \quad (3.4)$$

From (3.3) and (3.4), we get

$$\sum_{k=2}^{\infty} \frac{\phi_{k,\mu}^n(\lambda, A, B)}{2(A - B)} (|a_{k,p-\mu+1}| + |b_{k,p-\mu+1}|) \leq 1 \quad (3.5)$$

and

$$\sum_{k=2}^{\infty} \frac{\phi_{k,\mu}^n(\lambda, A, B)}{2(A - B)} (|A_{k,p-\mu+1}| + |B_{k,p-\mu+1}|) \leq 1. \quad (3.6)$$

Applying Cauchy-Schwarz inequality to (3.5) and (3.6), we obtain

$$\sum_{k=2}^{\infty} \frac{\phi_{k,\mu}^n(\lambda, A, B)}{2(A - B)} \sqrt{(|A_{k,p-\mu+1}| + |B_{k,p-\mu+1}|)(|a_{k,p-\mu+1}| + |b_{k,p-\mu+1}|)} \leq 1. \quad (3.7)$$

Due to

$$|A_{k,p-\mu+1}| |a_{k,p-\mu+1}| + |B_{k,p-\mu+1}| |b_{k,p-\mu+1}| \leq (|A_{k,p-\mu+1}| + |B_{k,p-\mu+1}|)(|a_{k,p-\mu+1}| + |b_{k,p-\mu+1}|), \quad (3.8)$$

from (3.7) and (3.8), we have

$$\sum_{k=2}^{\infty} \frac{\phi_{k,\mu}^n(\lambda, A, B)}{2(A - B)} \sqrt{(|A_{k,p-\mu+1}| |a_{k,p-\mu+1}| + |B_{k,p-\mu+1}| |b_{k,p-\mu+1}|)} \leq 1.$$

From the above inequality, it is easy to see

$$\sum_{\mu=1}^p \sum_{k=2}^{\infty} \frac{\phi_{k,\mu}^n(\lambda, A, B)}{2(A-B)} \sqrt{(|A_{k,p-\mu+1}| |a_{k,p-\mu+1}| + |B_{k,p-\mu+1}| |b_{k,p-\mu+1}|)} \leq p \quad (3.9)$$

and

$$\sqrt{(|A_{k,p-\mu+1}| |a_{k,p-\mu+1}| + |B_{k,p-\mu+1}| |b_{k,p-\mu+1}|)} \leq \frac{2(A-B)}{\phi_{k,\mu}^n(\lambda, A, B)}. \quad (3.10)$$

In order to obtain (3.2), we only need to show

$$(|A_{k,p-\mu+1}| |a_{k,p-\mu+1}| + |B_{k,p-\mu+1}| |b_{k,p-\mu+1}|) \leq \frac{1}{p} \sqrt{(|A_{k,p-\mu+1}| |a_{k,p-\mu+1}| + |B_{k,p-\mu+1}| |b_{k,p-\mu+1}|)},$$

that is,

$$\sqrt{(|A_{k,p-\mu+1}| |a_{k,p-\mu+1}| + |B_{k,p-\mu+1}| |b_{k,p-\mu+1}|)} \leq \frac{1}{p}. \quad (3.11)$$

By (3.10) and (3.11), (3.2) holds true if

$$\frac{2(A-B)}{\phi_{k,\mu}^n(\lambda, A, B)} \leq \frac{1}{p}.$$

For $\mu \geq 1$ and $k \geq 2$, we can get

$$\min_{\mu,k} \{\phi_{k,\mu}^n(\lambda, A, B)\} = \phi_{2,1}^n(\lambda, A, B).$$

Thus, (3.2) holds true if

$$\frac{2(A-B)}{\phi_{2,1}^n(\lambda, A, B)} \leq \frac{1}{p}.$$

So we get the condition (3.1) of Theorem 7 and complete the proof of Theorem 7.

Finally, we discuss the convolution properties of the class $\widetilde{HL}_p^n(\lambda; A, B)$. □

Lemma 1. (see [19]) Let $-1 \leq B_1 \leq B_2 < A_2 \leq A_1 \leq 1$. Then

$$\frac{1 + A_2 z}{1 + B_2 z} < \frac{1 + A_1 z}{1 + B_1 z} \quad (z \in \mathcal{U}).$$

Remark 2. Obviously, from Lemma 1, we get (see [8])

$$HL_p^n(\lambda, A, B) \subseteq HL_p^n(\lambda; 1 - 2\beta, -1) = SH_p(n, \lambda, \beta).$$

Lemma 2. Let $\lambda_2 \geq \lambda_1 \geq 1$, $-1 \leq B_1 \leq B_2 < A_2 \leq A_1 \leq 1$, $p \in \{1, 2, \dots\}$. Then

$$\widetilde{HL}_p^n(\lambda_2; A_2, B_2) \subseteq \widetilde{HL}_p^n(\lambda_1; A_1, B_1).$$

Proof. Let $F \in \widetilde{HL}_p^n(\lambda_2; A_2, B_2)$, then $\widetilde{HL}_p^n(\lambda_2; A_2, B_2) \subseteq \widetilde{HL}_p^n(\lambda_1; A_1, B_1)$ will be proved if we can show

$$\sum_{\mu=1}^p \sum_{k=1}^{\infty} \frac{\phi_{k,\mu}^n(\lambda_1, A_1, B_1)}{2(A_1 - B_1)} (|a_{k,p-\mu+1}| + |b_{k,p-\mu+1}|) \leq \sum_{\mu=1}^p \sum_{k=1}^{\infty} \frac{\phi_{k,\mu}^n(\lambda_2, A_2, B_2)}{2(A_2 - B_2)} (|a_{k,p-\mu+1}| + |b_{k,p-\mu+1}|), \quad (3.12)$$

or equivalently

$$\frac{\phi_{k,\mu}^n(\lambda_1, A_1, B_1)}{A_1 - B_1} \leq \frac{\phi_{k,\mu}^n(\lambda_2, A_2, B_2)}{A_2 - B_2}. \quad (3.13)$$

Since $F \in \widetilde{HL}_p^n(\lambda_2; A_2, B_2)$, $\lambda \geq 1$, $-1 \leq B_1 \leq B_2 < A_2 \leq A_1 \leq 1$, $p \in \{1, 2, \dots\}$, from (1.12) and Lemma 1, we have

$$\frac{D_{\lambda_2}^{n+1}F(z)}{D_{\lambda_2}^n F(z)} < \frac{1 + A_2 z}{1 + B_2 z} < \frac{1 + A_1 z}{1 + B_1 z} \quad (z \in \mathcal{U}),$$

or equivalently

$$\widetilde{HL}_p^n(\lambda_2; A_2, B_2) \subseteq \widetilde{HL}_p^n(\lambda_1; A_1, B_1). \quad (3.14)$$

Using Theorem 3 and (3.14), we get

$$\frac{\phi_{k,\mu}^n(\lambda_2, A_1, B_1)}{A_1 - B_1} \leq \frac{\phi_{k,\mu}^n(\lambda_2, A_2, B_2)}{A_2 - B_2}. \quad (3.15)$$

Because $\phi_{k,\mu}^n(\lambda, A, B)$ is an increasing function of λ , so from (3.15), we obtain

$$\frac{\phi_{k,\mu}^n(\lambda_1, A_1, B_1)}{A_1 - B_1} \leq \frac{\phi_{k,\mu}^n(\lambda_2, A_1, B_1)}{A_1 - B_1} \leq \frac{\phi_{k,\mu}^n(\lambda_2, A_2, B_2)}{A_2 - B_2}$$

and so (3.13) is established. Also, using (3.12) and Theorem 3, we have $F \in \widetilde{HL}_p^n(\lambda_1; A_1, B_1)$. The proof is completed. \square

Theorem 8. Let $\lambda_2 \geq \lambda_1 \geq 1$, $-1 \leq B_1 \leq B_2 < A_2 \leq A_1 \leq 1$, $p \in \{1, 2, \dots\}$, $A_{1,p-\mu+1} = a_{1,p-\mu+1} = 0$ ($2 \leq \mu \leq p$) and $B_{1,p-\mu+1} = b_{1,p-\mu+1} = 0$ ($1 \leq \mu \leq p$). If $F \in \widetilde{HL}_p^n(\lambda_2; A_2, B_2)$ and $G \in \widetilde{HL}_p^n(\lambda_1; A_1, B_1)$, then the convolution of F and G is in the class $\widetilde{HL}_p^n(\lambda_2; A_2, B_2)$ and

$$\widetilde{HL}_p^n(\lambda_2; A_2, B_2) \subseteq \widetilde{HL}_p^n(\lambda_1; A_1, B_1).$$

Proof. Let $F \in \widetilde{HL}_p^n(\lambda_2; A_2, B_2)$ and $G \in \widetilde{HL}_p^n(\lambda_1; A_1, B_1)$, $k \geq 1$, $1 \leq \mu \leq p$. Then from Theorem 3, for $k \geq 2$, we get

$$|a_{k,p-\mu+1}| \leq \frac{2(A_2 - B_2)}{\phi_{k,\mu}^n(\lambda_2, A_2, B_2)} \leq \frac{2(A_2 - B_2)}{(A_2 - B_2) + (1 - B_2)(k - 1)\lambda_2} \leq 1 \quad \text{and} \quad |b_{k,p-\mu+1}| \leq 1$$

and

$$|A_{k,p-\mu+1}| \leq \frac{2(A_1 - B_1)}{\phi_{k,\mu}^n(\lambda_1, A_1, B_1)} \leq \frac{2(A_1 - B_1)}{(A_1 - B_1) + (1 - B_1)(k - 1)\lambda_1} \leq 1 \quad \text{and} \quad |B_{k,p-\mu+1}| \leq 1.$$

And so, we conclude that

$$\sum_{\mu=1}^p \sum_{k=2}^{\infty} \frac{\phi_{k,\mu}^n(\lambda_2, A_2, B_2)}{2(A_2 - B_2)} (|a_{k,p-\mu+1}| |A_{k,p-\mu+1}| + |b_{k,p-\mu+1}| |B_{k,p-\mu+1}|)$$

$$\leq \sum_{\mu=1}^p \sum_{k=2}^{\infty} \frac{\phi_{k,\mu}^n(\lambda_2, A_2, B_2)}{2(A_2 - B_2)} (|a_{k,p-\mu+1}| + |b_{k,p-\mu+1}|) \leq 1.$$

Applying Theorem 3 and Lemma 2, we obtain $(F * G)(z) \in \widetilde{HL}_p^n(\lambda_2; A_2, B_2) \subseteq \widetilde{HL}_p^n(\lambda_1; A_1, B_1)$ and so we complete the proof of Theorem 8. \square

Acknowledgments

This work was supported by Natural Science Foundation of Inner Mongolia Autonomous Region of China (Grant No. 2019MS01023; Grant No. 2020MS01011; Grant No. 2018MS01026) and Research Program of science and technology at Universities of Inner Mongolia Autonomous Region (Grant No. NJZZ19209; Grant No. NJZY20198).

We would like to thank the referees for their valuable comments, suggestions and corrections.

Conflict of interest

The authors agree with the contents of the manuscript, and there is no conflict of interest among the authors.

References

1. J. Clunie, T. Sheil-Small, Harmonic univalent functions, *Ann. Acad. Sci. Fenn. Math.*, **9** (1984), 3–25.
2. P. L. Duren, *Harmonic Mappings in the Plane*, Cambridge University Press, 2004.
3. J. Dziok, On Janowski harmonic functions, *J. Appl. Anal.*, **21** (2015), 99–107.
4. Z. Abdulhadi, Y. Abu Muhanna, Landau's theorem for biharmonic mappings, *J. Math. Anal. Appl.*, **338** (2008), 705–709.
5. Z. Abdulhadi, Y. Abu Muhanna, S. Khuri, On univalent solutions of the biharmonic equations, *J. Inequal. Appl.*, **5** (2005), 469–478.
6. Z. Abdulhadi, Y. Abu Muhanna, S. Khuri, On some properties of solutions of the biharmonic equation, *Appl. Math. Comput.*, **177** (2006), 346–351.
7. S. Chen, S. Ponnusamy, X. Wang, Bloch constant and Landau's theorem for planar p -harmonic mappings, *J. Math. Anal. Appl.*, **373** (2011), 102–110.
8. E. Yaşar, S. Yalçın, Properties of a class p -harmonic functions, *Abstr. Appl. Anal.*, **2013** (2013), 1–8.
9. J. Qiao, X. Wang, On p -harmonic univalent mappings, *Acta Mathematica Scientia*, **32** (2012), 588–600.
10. S. Porwal, K. K. Dixit, On a p -harmonic mappings, *Tamkang Journal of Mathematics*, **44** (2013), 313–325.
11. Q. Luo, X. Wang, The starlikeness, convexity, covering theorem and extreme points of p -harmonic mappings, *B. Iran. Math. Soc.*, **38** (2012), 581–596.

12. J. Qiao, J. Chen, M. Shi, On certain subclasses of univalent p -harmonic mappings, *B. Iran. Math. Soc.*, **41** (2015), 429–451.
13. P. Li, S. A. Khuri, X. Wang, On certain geometric properties of polyharmonic mappings, *J. Math. Anal. Appl.*, **434** (2016), 1462–1473.
14. S. Li, H. Tang, X. Niu, On extreme points and product properties of a new subclass of p -harmonic functions, *J. Inequal. Appl.*, **2019** (2019), 1–14.
15. S. Li, P. Liu, A new class of harmonic univalent functions by the generalized Sălăgean operator, *Wuhan University Journal of Natural Sciences*, **12** (2007), 965–970.
16. F. M. Al-Oboudi, On univalent functions defined by a generalized Sălăgean operator, *International Journal of Mathematics and Mathematical Sciences*, **27** (2004), 1429–1436.
17. G. S. Sălăgean, *Subclasses of Univalent Functions*, Springer, Berlin, 1981, 362–372.
18. W. Janowski, Some extremal problems for certain families of analytic functions, *Ann. Pol. Math.*, **28** (1973), 297–326.
19. M. Liu, On a subclass of p -valent close to convex functions of order β and type α , *Journal of Mathematical Study*, **30** (1997), 102–104.



AIMS Press

©2021 the Author(s), licensee AIMS Press. This is an open access article distributed under the terms of the Creative Commons Attribution License (<http://creativecommons.org/licenses/by/4.0>)